

Required fees for registration under Articles 7, 8 and 12 of KKDIK Regulation

Article 7: General registration obligation for substances as such or in a mixture Article 8: Registration of substances in articles Article 12: Joint submission of data by more than one registrant

	Individual submission	Joint submission
	(TRY)	(TRY)
Fee for substances between 1-10 tonnes		
	1000	750
Fee for substances between 10-100 tonnes		
	2500	1750
Fee for substances between 100-1000		
tonnes	7000	5000
Fee for substances more than 1000 tonnes		
	15000	12000

	Та	ble 2. Reduce	d Fees for SM	Es		
	sized Enterprise (Individual	Medium- sized Enterprise (Joint submission) (TRY)	Small-sized Enterprise (Individual submission) (TRY)	Enterprise (Joint submission)	Enterprise (Individual	Micro-sized Enterprise (Joint submission) (TRY)
Fee for substances between 1-10 tonnes	500	300	250	150	100	50
Fee for substances between 10-100 tonnes	1500	900	750	450	200	100
Fee for substances between 100-1000 tonnes	4000	2000	1500	1000	400	150
Fee for substances more than 1000 tonnes	10000	5000	4250	3000	1000	500

Fees to be paid for registration under Article 17(2), Article 18(2) and (3) or Article 19 of KKDIK Regulation

Article 17: Registration of on-site isolated intermediates

Article 18: Registration of transported isolated intermediates

Article 19: Joint submission of data on isolated intermediates by more than one registrant

Table 1. Standard fees:

	Individual sub	mission (TRY) Joint submission (TRY)
fee		
	1000	750

Table 2. Reduced Fees for SMEs

	Medium-	Medium-	Small-sized	Small-sized	Micro-sized	Micro-sized
	sized	sized	Enterprise	Enterprise	Enterprise	Enterprise
	Enterprise	Enterprise	(Individual	(Joint	(Individual	(Joint
	(Individual	(Joint	submission)	submission)	submission)	submission)
	submission)	submission)	(TRY)	(TRY)	(TRY)	(TRY)
	(TRY)	(TRY)				
fee						
	500	300	250	150	100	50

Required fees for registration update under Article 22 of KKDIK Regulation

Article 22: Other duties of the registrant

	Individual submission (TRY)	Joint submission (TRY)
From 1-10 tonnage band to 10-100 tonnage band		
	1500	1000
From 1-10 tonnage band to 100-1000 tonnage		
band	6000	4250
From 1-10 tonnage band to more than 1000		
tonnage band	14000	11250
From 10-100 tonnage band to 100-1000 tonnage		
band	4500	3250
From 10-100 tonnage band to more than 1000		
tonnage band	12500	10250
From 100-1000 tonnage band to more than 1000		
tonnage band	8000	7000

Table 1: Standard fees for tonnage band update

Table 2: Reduced Fees for SMEs for tonnage band update

	Enterprise	Medium-sized Enterprise (Joint submission) (TRY)		Small-sized Enterprise (Joint submission) (TRY)	Enterprise (Individual submission)	Micro-sized Enterprise (Joint Submission) (TRY)
From 1-10 tonnage band to 10-100 tonnage band	1000	600	500	300	100	50
From 1-10 tonnage band to 100-1000 tonnage band	3500	1700	1250	850	300	100
From 1-10 tonnage band to more than 1000 tonnage band	9500	4700	4000	2850	900	450
From 10-100 tonnage band to 100-1000 tonnage band	2500	1100	750	550	250	50
From 10-100 tonnage band to more than 1000 tonnage band	8500	4100	3500	2550	850	400
From 100-1000 tonnage band to more than 1000 tonnage band	6000	3000	2750	2000	600	350

	Update Type			
Change in the registrat	nt's identity including a change in			
legal entity		750		
L	Jpdate Type	Individual submission (TRY)	Joint submission (TRY)	
	Change in purity and/or identity of impurities or additives			
		2000	1500	
	Relevant tonnage band	750	350	
Change in information	A study summary or comprehensive study summary	2000	1500	
access permission in the submission	Information in the safety data sheet	1500	1000	
	Trade name of the substance	750	350	
	IUPAC name for substances referred to in Article 61(1)(a) of KKDIK Regulation*			
r		750	350	
* Electronic public acc	cess			

Table 3: Fees for other updates

Update Typ	De	±		Small En (TRY)	Small Enterprise (TRY)		terprise
	the registrant's luding a change ity	registrant's ling a change 500		250		50	
Update Typ	pe	Medium Enterprise (Individual submission) (TRY)	Medium Enterprise (Joint submission) (TRY)	Small Enterprise (Individual submission) (TRY)	Small Enterprise (Joint submission) (TRY)	Micro Enterprise (Individual submission) (TRY)	Micro Enterprise (Joint submission) (TRY)
Change in information access permission in the submission	Change in purity and/or identity of impurities or additives						
suomission		1500	1000	800	500	200	150
	Relevant tonnage band	500	350	250	150	75	50
	A study summary or comprehensive study summary		1000	800	500	200	150
	Information in the safety data sheet						150
		750	500	400	300	150	100
С	Trade name of the substance	500	350	250	150	75	50
	IUPAC name for substances referred to in Article 61(1)(a) of KKDIK Description*						
	Regulation*	500	350	250	150	75	50

Table 4. Reduced Fees for SMEs for other updates

Required fees for submissions under Item (11) of Article 11(1)(a) in KKDIK Regulation

Article 11 (1) (a) 11: The request of the manufacturer or importer on not to disclose information on the internet in accordance with the second paragraph of Article 61 and its justification by explaining why publishing would be hazardous for the commercial interests of the person or another related party. – Non-public access information request

Table 1 Standard Fees:					
Requested confidentiality	Individual	Joint submission			
	submission (TRY)	(TRY)			
The degree of purity and/or					
identity of impurities or	2000	1500			
additives	2000				
Relevant tonnage band	750	350			
A study summary or	2000	1500			
comprehensive study summary	2000	1500			
Information in the safety data	1500	1000			
sheet	1300	1000			
Trade name of the substance	750	350			
IUPAC name for substances					
referred to in Article 61(1)(a)	750	350			
of KKDIK Regulation*					

Requested	Medium	Medium	Small	Small	Micro	Micro
confidentiality	Enterprise	Enterprise	Enterprise	Enterprise	Enterprise	Enterprise
	(Individual	(Joint	(Individual	(Joint	(Individual	(Joint
	submission)	submission)	submission)	submission)	submission)	submission)
	(TRY)	(TRY)	(TRY)	(TRY)	(TRY)	(TRY)
The degree of						
purity and/or						
identity of						
impurities or						
additives						
	1500	1000	800	500	200	150
Relevant						
tonnage band	500	350	250	150	75	50
A study						
summary or	•					
comprehensive						
study summary	1500	1000	800	500	200	150
Information in						
the safety data						
sheet	750	500	400	300	150	100
Trade name of						
the substance	500	350	250	150	75	50
IUPAC name						
for substances						
referred to in						
Article						
61(1)(a) of						
KKDIK	500	350	250	150	75	50
Regulation*	500	550	230	130	13	50

 Table 2 Reduced Fee for SMEs

Required fees for Process and Product Orientated R&D (PPORD) notifications under Article 10 of KKDIK Regulation

Article 10: Process and product orientated research and development (PPORD)

Table 1. Fees for Process and Product Orientated R&D (PPORD) notifications

Standard fee	
	250
Reduced fee for medium-sized enterprise	
	150
Reduced fee for small enterprise	
	100
Reduced fee for micro enterprise	
	50

Table 2. Fees for the extension of Process and Product Orientated R&D(PPORD) exemption

Standard fee	
	500
Reduced fee for medium-sized enterprise	e
	300
Reduced fee for small enterprise	
	200
Reduced fee for micro enterprise	
	100